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!� 5
!�� �!��� ������ �

������� ��� 7�� �!��8 �
�9�
!� ���������!���+ 6��: 5�� ;� ��� D = (V, A) �� �
����	��� 
���� 
��� � ����
����� ��������� r0� D ��� k �������� �������
 �������	��	��
�� ���� r0 �� ��� ���� �� D �� ������ k���
��	����	���� ���� ���

�(X) ≥ k 
������� X ⊆ V − r0, X �= ∅. � 7#;

&��� �! 	�
������
�� �� ���� r0  ��!� � �
������ ���� 
! 6�
�� ����� !��� 
�
��������� 5�� � ����
<�� �����!��� r0� *� �� ��
 �� 
��!�
5� �! ���������!�� (U, F )
6
�� 
�� �������� F �!� 6
�� ��� ���� ��� ���������!�� F ���!� U � ��
� ���
�� 
!��
���
�����  �!� �=��!�
�!� 
! ��� ���� ����� �������� &��� 6� �����
�6 ����!� ����!����

��������� ��	�
��� 
���� �� ��������� ���
������ �� ����
����	 ��	�
���� ���
������ ��
�������� �������	 �!��!	 "�����	���� #�$���� # 	 %&� '�(
��	�� )���
��� )�%%%* ��	�
���
	�������( +� ��� )���
��
� ,
����
- .���(
���� ��� �������/� ��	�
���� ��0� 012324 ��� 5��6
5
	 ����-���( 5��-� ��� 	����( 
����� ��	���( ��� ��	�
��� 7�	������ ��� �
����
���
- �������	�
0���� "�����	���� 4223 ���
�-8 ���������	�
��	�
 � ��������	�
��	�


��� ����



��	
��
 �� �

����	
��
 �

-
�� �!� �
��� ��
��� ��� 5
!��
�!� ��� :!�6! �� �� 
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���
�! �
� 
! ��� ���� <5���! ����� 
� �
�!�� �
� ���� ������� ���
��� ��! �� �=��!���
�� 5
!��
�!� ��<!�� �! ��
�� �5 ���� �� �! �
������ �
��! � ���
!����� V � 6� ���� �
��
� X = (XO, XI) �5 �
����� � 
����� 
5 XI ⊆ XO ⊆ V 6���� XO 
� ��� �
���
 � ��� �!� XI 
� ��� 
!!��  � ��� �5 X� )� � �
���� 5
!��
�! 6�  ��! � 5
!��
�!
��<!�� �! ��� ��� �5 �
����� �5 V � *� 6
�� ���
��� 
��!�
5� � �
���� X = (XO, XI)
5�� 6�
�� XO = XI 6
�� ��� ��� XI �!� ��!�� �
���� 5
!��
�!�  �� �� ��!�
�����
�� ����
��� ��!����
���
�!� �5 ��� 5
!��
�!�� ��� ��� �5 ��� �
����� �! ���
!����� V

� ��!���� �� P2(V ) = P2� ��� �
���������
 ∩ �!� ��� �
��
 ∪ �5 �
����� 
� ���
<!�� 
! � ����
���5��6���  �!!��+ 5�� X, Y ∈ P2 ��� X ∩ Y := (XO ∩ YO, XI ∩ YI)�
X ∪Y := (XO ∪YO, XI ∪YI)� *� 6�
�� X ⊆ Y 
5 XO ⊆ YO, XI ⊆ YI �!� ��
� �����
�!

� � ����
�� ����� �! P2� >�����
!���� 6��! X ⊆ Y �� Y ⊆ X� 6� ���� X �!� Y
����	�	
��� > 5� 
�� �5 ��
�6
�� �� ������� �
����� 
� ������ � ��	�
� �6� �
�����
X �!� Y ��� �
����
��
� 
5 XI ∩YI = ∅ �� V = XO∪YO� > ��� �5 �
����� 
� 
!����!�
��!� 
5 
��  � ���� ��� ��
�6
�� 
!����!��!�� *� ���� � ��� �5 �
����� � ��
���	����


5 
� 
� ������ 
!��� ��:
!� 
!
�! �!� 
!�������
�!� �6� �
����� ��� �
��������
� 
5
XI ∩ YI �= ∅ �!� �������� �
��������
� 
5� 
! ���
�
�!� ���� ��� !�� �� ��������
.��� ���� XO ∪ YO = V 
� ����6�� 5�� �6� 
!�������
!� �
������ ,! ����
�
���� �6� ����
X �!� Y ��� �������� 
!�������
!� 
5 !�!� �5 X ∩ Y, X − Y, Y −X 
� � ���� > 5� 
��
�5 �
����� 
� ������ �	��
	� 
5 
� ��� !� �6� �������� 
!�������
!�  � ����� > 5� 
��
F �5 �
����� 
� �
��������
� 
5 ���� ��� 
!
�! �!� ��� 
!�������
�! �5 �!� �6� 
!����
����
!�  � ���� �5 F ����!� �� F � ,! ����
�
���� � 5� 
�� L �5 �
����� 
� 
!�������
!�

5 X ∩ Y, X ∪ Y ∈ L 6��!���� X, Y ∈ L �!� X ∩ Y �= ∅� > �� 
!�� 5� 
�� �5 �
�����

� ���
�
��� 
!�������
!�� �6� �
����� ��� ������
� 
5 XI ∩ YI �= ∅ �!� XO ∪ YO �= V
�!� �������� ������
� 
5 ���� ��� !�� �� �������� > �
���� (XO, XI) 
� �����	� 
5
XI = ∅ �� XO = V � *� 6
�� ���
 � ����
���
� ��� ����� ���� ��� �
���� 5
!��
�!�

! ?
���
�! ��� 
!���������
�� �!� ���� ���
� ���
� �! ��
�
�� �
����� 
� ��6��� ����� ,!
����
�
���� ��� 5
!��
�!� ��� ���� 
!���������
�� �!� ���� �! ��� � ��� ��� �!� �! ���
���
!������
> �
������ ���� �
���� �� ������ X 
5 
�� ���� 
� 
! XI �!� 
�� ��
� 
� �
��
�� XO�

��� ��� �5 ����� �!���
!� � �
���� X 
� ��!���� �� Δ−
D(X) = Δ−(X)� >! ���� ������

� 5� 
�� �5 �
����� 
5 
� ������ ����  � ��� �5 ��� 5� 
��� @�� � �
���� 5
!��
�! p� �
�
����� D = (V, A) 
� ��
� �� ����� p 
5 �D(X) ≥ p(X) 5�� ����� X ∈ P2(V ) 6����
�D(X) ��!���� ��� !
 ��� �5 ����� �5 D �����
!� X� @�� � ������ z : A → R� ���
�z(X) :=

∑
[z(a) : a ∈ A, a ������ X]� > ������ z : A → R ������ p 
5 �z(X) ≥ p(X)

5�� ����� X ∈ P2(V )�
> �
���� 5
!��
�! p 
� ��
� �� ���
�5� ��� ����������	� �
���	���� �! X, Y ∈ P2


5
p(X) + p(Y ) ≤ p(X ∩ Y ) + p(X ∪ Y ). 7�;

,5 ��� ������� 
!�?
��
�� ������ 6� ����: �5 ��� ��
�����	� 
!�?
��
��� p 
� ��
�
�� �� ����� ����������	� �� �
��� ��
��� 
5 
� ���
�<�� ��� �
��� ��
��� 
!�?
���

�� 5�� ����� ��
� �5 �
����� X, Y � ,5 7�; ����� 5�� 
!�������
!� 7�����
!�; ��
��� 6�
����: �5 �
��������
� 7������
�; ����������	� 5
!��
�!�� >!�����
� !��
�!� ��!
�� 
!����
��� 5�� �
� ��
��� 5
!��
�!�� -� ��
 �� 7�; 
� ��?

��� �!�� 5�� ��
��
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6
�� p(X) > 0 �!� p(Y ) > 0 
! 6�
�� ���� 6� ����: �5 ���������� ����������	�

5
!��
�!�� 	��
�
���� 
!�������
!� �� �����
!� �
��� ��
��� 5
!��
�!� ��� ��<!�� �!���
���
���� > ���
��� 6�� �� ��!���
�� � ���
�
���� �
��� ��
��� 5
!��
�! 
� ������
!�
���� !����
�� ���
� �5 � 5
��� �
��� ��
��� 5
!��
�! �� �����

����������
 ���� ��� �����
��� ���	���� �D �� P2 �� ����������� �

����
���
� 6� 
�� ��� 5����6
!� !����
�!� @�� �! 
!�
������ ����� G = (V, E) �!�
� �
���� X ⊆ V 6� ��!��� ��� !
 ��� �5 ����� ���
!� �=����� �!� �!� 
! X �� d(X)�
�
��! � �
������ ����� D = (V, A)� �D(X) = �A(X) = �(X) �!� δD(X) = δA(X) =
δ(X) ��!��� ��� !
 ��� �5 ����� �!���
!� �!� ����
!�X� �������
����� @�� �! ���� ���
E ′ ⊆ E 7����� ��� ��� A′ ⊆ A;� 6� 
�� iE′(X) �!� eE′(X) 7����� iA′(X) �!� eA′(X);
�� ��!��� ��� !
 ��� �5 ����� 
! E ′ 7����� ���� 
! A′; 
!�
��� �� �!� ��9���!� ��
X� �������
����� A5��! 6� �� !�� �
��
!�

�� ���6��! � �!����� �!� ��� �!� 
�� �!��
��� �!�� @�� �=� ���� ��� 
!������� �({v}) �5 � �
!�����! {v} 
� ������
���� �� �(v)�
��� !�6 ���
��� ��� � ����
��� �� 
�
!� ���
��� ��������

��� ���� �5 ��� ����� 
� ����!
��� �� 5����6�� -���
�! � �
��� �! �����
�6 �5 �����
!�
���
��� ���
��� 5�� �� �!��8 ������ � %�!����� �!� �������� �=��!�
�!� ��� ����
��!��� 
! -���
�! 1� 6�
�� -���
�! � ��!��
!� ��� ���������� �!� �����
�� 
� �������
�5 ���:
!� ���!��
!��� @
!����� -���
�! / ����� 6
�� 
!����!��!� ���������!���� �!�
�! �����
�� 5�� ���� ���
!� �  �=
 �� ���!�� ����� 
!�� ����� 
� �
��!�

� �
����
��� ��� 	��������	��

,! ��
� ����
�! 6� �=�
�
� ���
��� ����
!�� �� �����
!� �� �!��8 �
�9�
!� ��������
��!��� ������ 7������ #�#;�

��� �����	
� ��
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�� 

� �����

������� ��� 73#�4;� ��� ��
� ��� �� � ��
���� D = (V, A) 	�� �� 	������ �� k
����	���
� �� ��� ���� ��

��� �����
��� �� ��	� ���� �� �� ���� k 71;

���
i(X) ≤ k(|X| − 1) ��� ����� ∅ ⊂ X ⊆ V � 7�;

������ -
!�� ��� 
!������� �5 ���� !��� 
! �!� ���!��
!� 
� ��  ��� �!�� ��!�
�
�! 71;

� !��������� -
!�� � 5����� ��! ���� ��  ��� |X| − 1 ����� 
!�
��� �� X� k 5�������
�!� ��!�� k ���!��
!��� ��! ���� ��  ��� k(|X| − 1)� ���� 
�� 7�; 
� ���� !���������
�� ����� ��� �
B�
�!�� 6� 
�� ��� 5����6
!� ��� �!���� ��!���
��
�!� �=��!� ���

�
����� �� ���
!� � !�6 !��� r0 �!� �� ���
!� k − �(v) �������� ����� 5�� r0 �� v
5�� ���� !��� v ∈ V � ,! ��� ���
��
!� �
����� D′� 6� ����

�′(X) = �(X) +
∑

[k − �(v) : v ∈ X] = �(X) − �(X) − i(X) + k|X| ≥ k
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5�� ����� !�!�� ��� ��� X ⊆ V �!� ���� �′(v) = k 5�� ����� !��� v ∈ V � )� ������ 
#�#� ��� ���� ��� �5 D′ ����
�
�!� 
!�� k ������
�9�
!� ���!!
!� ���������!��� �5 ����
r0� )� �����
��
!� ����� ���������!��� �! ��� ���� ��� �5 D 6� ����
! ��� ��?
�����
����
�
�! �5 A 
!�� k ���!��
!���

,� 
� !�� �
B�
�� �� ��� ���� 
5 � ������ k��������!!����� �
����� 
�  
!
 �� 
!
��
!� �5 ����
!� ������ ���! ��� 
!������� �5 ���� !�!����� !��� 
� �=����� k �!�
�� �� �!��8 ������ #�# ��! �� ���
�� ���
��� 5�� ������ ��#� ��� 5����6
!�

!������
!� ��!��?
�!�� 6�� ������ 
! 31#4�

������	�� ��� 7C�>� D�����!;� ��� ��
� ��� �� � ��
���� D ��� 	��������
 �����
�� �������� ��
�� 	�� �� 	������ �� K + 1 ����	���
� 
���� K ������� ��� �������
�����
��� �� � ���� �� D� �
��� 5����6
!� ���
�� 5����6� ���
�� 5�� !��6��: E�6� �!� 6�� 5�� 
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! 3#F4�

������� ���� ��� f : V → Z+ ∪ {−∞} ��� g : V → Z+ ∪ {∞} �� �
� ���	�����
��	� ���� f ≤ g. � 
���� G = (V, E) ��� �� ����������� ��� 
��	� f(v) ≤ �(v) ≤ g(v)
��� ����� ���� v �� ��� ���� ��

eG(X) ≥ f(X) ��� ����� ������ X ⊆ V � 7/;

���
iG(X) ≤ g(X) ��� ����� ������ X ⊆ V. � 7F;
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������� ��� 7A�
�!���
�! ��  �� -�G� &�:
 
 3�#4;� ��� �� ������	��� 
���� G =
(V, E) ��� � ���	���� m : V → Z ��� �����
��
 ���������� ��� � ���������

G ��� �� ����������� �� ���� �(v) = m(v) ��� ����� ���� v! 7(;

eG(X) ≥ m(X) ��� ����� ������ X ⊆ V ��� m(V ) = |E|! 70;

iG(Y ) ≤ m(Y ) ��� ����� ������ Y ⊆ V ��� m(V ) = |E|� � 7�;
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� ��� �� �� ������	��� 
���� G = (V, E) 	��
�� 	������ �� k ������� �� ��� ���� ��

iG(X) ≤ k(|X| − 1) ��� ����� ∅ �= X ⊆ V � 7#�;

������ ��� !�����
�� 
� ����� �
!�� �!� 5����� ��! ���� ��  ��� |X| − 1 ����� 
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 ���� G = (V, E) ��� �! ��
�!���
�! D 
! 6�
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!������� �5 ���� !��� 
� ��  ��� k� ,!����� 7#�; 
 ��
�� ���� iG(X) ≤ k|X| ����� 5��
X ⊆ V �!� ���! ������ ��1� 6��! ����
�� �� g ≡ k, f ≡ 0� ������ ��� �=
���!�� �5
�
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*��! ��! � �
����� D = (V, A) �� ������� �� k ���!!
!� ���������!��� �5 ���� r0H
@�� �!� �
���� X �5 !����� ��� Γ−(X) := {v ∈ X+ ����� 
� �! ���� uv ∈ A 5�� 6�
��
u ∈ V − X} �!� ���� ��
� ��� ��� �
��	
�� �5 X� ���� 
�� ��� �!���!�� ��!�
��� �5
��� ���� !���� �5 ����� �!���
!� X� ��� 5����6
!� ���
��  �� �� ��!�
����� �� �
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!������� �5 ��� �
�9�
!� ���������!��� ������ �

������� �� 7D� I
�����!:�� 31�4;� ��� r0 �� � ���� ���� �� � ��
���� D = (V, A)
�� ���� �� ��
� ������ r0� "� �� �������� �� 	���� ��� ��
� ��� �� D �� k �������

�������	��	�� �� ���� r0 �� ��� ���� ��

�(v) ≤ k ��� ����� v ∈ V − r0 7##;

���
k − �(X) ≤

∑
[k − �(v) : v ∈ Γ−(X)] ��� ����� X ⊆ V − r0 7#�;


���� Γ−(X) �� ��� ������	� �� X� �
,! -���
�! 1�# 6� �
�� � ��!����
���
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��� 5����6
!� 6�� ���6! 
! 3##4�

������� ��! 73##4;� ��� G = (V, E) �� �� ������	��� 
���� ��� r0 ∈ V � ����
�����
���� ����� ����� �� � ������ k���
��	����	��� ����������� �� G �� ��� ���� �� G ��
k�����������	����	���� ���� ���

e(F) ≥ k(t − 1) 7#1;

����� ��� ����� ��������� F := {V1, ..., Vt} �� V 
���� e(F) ������� ��� ��
�� 	����	��

��
 ������	� ����� #���� ��� e(F) =
∑

i

d(Vi)/2)� �

��� ������ �� �
!�� 6
�� �� �!��8 �
�9�
!� ���������!��� ������ 
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������� ��" 7*��� �
��� 3104;� �� ������	��� 
���� G = (V, E) �� k������	����	���
�� ��� ���� �� �� �� k�����������	����	���� "� ����� 
����� G 	������� k ��
����������
�������
 ����� �� ��� ���� ��

e(F) ≥ k(t − 1) ��� ����� ��������� F := {V1, ..., Vt} �� V � 7#�;
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���� ��� h �� ����
���
������ �������	���
 ������������ ���	���� #
��� �������� ��
����� ������$� ����� �� ��
����������� �� G 	������
 h �� ��� ���� ��

e′(P) ≥
∑

[h(Vi) : i = 1, ..., t] 7#/;

����� ��� ����� ������������ P = {V1, ..., Vt} �� V 
���� e′(P) ������� ��� ������ ��
��
�� �� G �������
 �� ����� ��� ������ �� P� �
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������� ���$� ��� M = (V, A + E) �� � ����� 
���� 	��������
 �� �� ������	���

���� G = (V, E) ��� � ����	��� 
���� D = (V, A)� ��� ��� r0 ∈ V �� � ����
�����
���� ����� M ��� � ������ k���
��	����	��� ����������� 
��� �����	� �� r0 �� ��� ����
��

e(P) ≥
p∑

i=1

[k − �D(Vi)] 7#F;

����� ��� ����� ��������� P := {V0, V1, ..., Vp} �� V 
���� r0 ∈ V0 ��� e(P) �������
��� ������ �� ��
�� �� G 	����	���
 ������	� ����� �� P� �
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��� k ��
���������� �������
 ����� �������	��	�� �� ���� r0 �� ��� ���� ��

e(P) ≥
p∑

i=1

[k − �D(Vi)] 7#(;

����� ��� ����� ��������� P := {V0, V1, ..., Vp} �� V 
���� r0 ∈ V0 ��� e(P) �������
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%��� � ������ z : V → {0, 1, ..., k} � ����������� 
5 ����� ��� k ������
�9�
!� ���!!
!�
���������!��� 
! D �� ���� ���� !��� v 
� ��� ���� �5 z(v) ���������!���� @�� 
�� �!��8 ������ �!� ���
�� ���� ��� 5����6
!� ���������
���
�! �5 �������������

������� ����� &���� � ��
���� D′ = (V ′, A′)� � ��	��� z �� � �������	��� �� ��� ����
�� z(V ′) = k ��� z(X) ≥ k − �′(X) ��� ����� ��������� ������ X ⊆ V ′�

������ ��� !�����
�� �5 ���� ��!�
�
�!� 
� ��
��!�� @�� ��� �
B�
�!��� �=��!� D′ 6
��
� !��� r0 �!� z(v) �������� ����� 5�� r0 �� v 5�� ���� v ∈ V � ,! ��� ���
��
!� �
�����
D ��� �
�������� �5 r0 
� �=����� k �!� �D(X) = z(X) + �′(X) ≥ k ����� 5�� �����
!�!�� ��� X ⊆ V ′� )� �� �!��8 ������ � D ��!��
!� k ������
�9�
!� ���!!
!�
���������!��� �5 ���� r0� -
!�� δD(r0) = k� ���� �5 ����� ���������!���  
�� ����
�=����� �!� ���� ����
!� r0 �!� �����5��� ���
� �����
��
�!� �� A′ 5�� k ���������!���
�5 D′ �5 ����������� z�

@�� �! 
!�������
!� �
��� ��
��� 5
!��
�! p 6
�� <!
�� p(S)� ���

B′(p) := {x ∈ R
S : x(S) = p(S), x(A) ≥ p(A) 5�� ����� A ⊆ S}.

��
� 
� ������ � ��������������!� ��� 5����6
!� ���
�� �������� 
! �! �?

����!� 5�� 

! 3#04�

������� ���� 7>� @��!:� K� ������;� ��� p �� �� �������	���
 ������������ ���	����
��� 
��	� p(S) '���� ��� ��� f : S → R ∪ {−∞}� g : S → R ∪ {∞} �� �
� ���	�����
��� 
��	� f ≤ g�

#�$ ��� ���������� {x ∈ B′(p) : f ≤ x} �� ��������� �� ��� ���� ��

f(S) ≤ p(S) 7#0;

���

f(X0) +

t∑

i=1

p(Xi) ≤ p(S) 7#�;

��� ����� ��������� {X0, X1, ..., Xt} (t ≥ 1) �� S �� 
��	� ���� X0 ��� �� ������

#��$ ��� ���������� {x ∈ B′(p) : x ≤ g} �� ��������� �� ��� ���� ��

g(X) ≥ p(X) ��� ����� X ⊆ S� 7��;

#���$ ��� ��������������� {x ∈ B′(p) : f ≤ x ≤ g} �� ��������� �� ��� ���� �� �������
{x ∈ B′(p) : f ≤ x} ��� {x ∈ B′(p) : x ≤ g} �� ������
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#�$ ��	� ���� v �� ��� ���� �� �� ���� g(v) �� ���� �� ��� ���� ��

t∑

i=1

�D(Xi) ≥ k(t − 1) 7�#;

����� ��� ����� ������������ {X1, ..., Xt} �� V � ���

g(X) ≥ k − �D(X) 7��;

��� ����� ∅ ⊂ X ⊆ V !

#��$ ��	� ���� v �� ��� ���� �� �� ����� f(v) �� ���� �� ��� ���� �� f(V ) ≤ k ���

t∑

i=1

�D(Xi) ≥ k(t − 1) + f(X0) 7�1;

����� ��� ����� ��������� {X0, X1, ..., Xt} �� V ��� 
��	� t ≥ 1 ��� ���� X0 ���
�� �����!
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��
!��;� ���! ������ 1�# ���
�� 5����6�
5�� ������ #�#� &�6����� 5�� ��!���� Ri8� !� ���
��
�! 
� :!�6!�

������� ��� 7�� �!��8 �
�9�
!� ���������!���+ ����!� 5�� ;� ��� D = (V, A) �� �
��
���� 
���� ���� ��� �� ����������� ���� � �������� R = {r1, ..., rk} 7�5 �
��
!�� �����;
��� � �������� ��� T � (������ ���� �� ��
� �� D ������ ��� ���� �� R� ����� ��� k
�������� �������	��	�� F1, ..., Fk �� D �� ���� Fi �� ������ �� ri ��� ����� T + ri ���
��	� i = 1, ..., k �� ��� ���� �� �D(X) ≥ |R − X| ��� ����� ������ X ⊆ V ��� 
��	�
X ∩ T �= ∅� �
��
� 5����6� ���
�� �� �����
!� ������ 1�# �� ��� �
������ D′ �5 D 
!�
��� ��

T 6
�� ��� ���
�� Ri = {v : ����� 
� �! ���� riv ∈ A} (i = 1, ..., k). ��� �� �
��!���
��
�! ���6� ��� ������� 
 ��
���
�!� ����
��� 6��: 5�� �5 �� �!��8 ������ ��
�� �� 
��� �� ���
�� .����*
��
� � ����

��� �! �����
!� ������ �� 5������� ��� ����!� 5�� �
��� �
�� �� ��� 5����6
!�
������!
!��

������� ���� (������ ���� ��� ��
� ��� �� � 	����	��� ������	��� 
���� G = (V, E∪
F ) �� ����������� ���� ������� E ��� F 
���� F �� ��� ����� �� k ����� Ti = (Ri, Fi)
(i = 1, ..., k) ��� 
��	� ∅ �= Ri ⊆ V 7����6
!� Fi = ∅, |Ri| = 1;� "� �� �������� ��
������ ��� k ����� ���� ��� �������� �� E ���� k �������
 ����� 	������
 E ∪F �� ���
���� ��

iE(X) ≤
∑

v∈X

p(v) − p(X) ��� ����� ∅ ⊂ X ⊆ V 7�/;

����� ����	
��� ��
��� ��� �������



��� ��
	��
� ��
�
���
� #�


���� iE(X) ������� ��� ������ �� ��
�� �� E ����	�� �� X� p(X) ������� ��� ������
�� ���� Ri �������� ���� X�

������ .�����
��� G�� X �� � !�!�� ��� �
���� �5 V � ,5 Ri ∩ X �= ∅� ���! � 5�����

!��
�
!� Ti  �� ��!��
! ��  ��� |X − Ri| ��� �!�� �5 E 
!�
��� �� X� �����5���
��� ����� !
 ��� �5 ����� ���� �5 ����� 
� ��  ���

∑

Ri∩X �=∅
|X − Ri| =

k∑

1

|X − Ri| − p(X)|X| =
∑

v∈X

p(v) − p(X)|X|.

,5 Ri ∩ X = ∅� ���! � 5����� 
!��
�
!� Ti  �� ��!��
! ��  ��� |X| − 1 ��� �!��
�5 E 
!�
��� �� X� �����5��� ��� ����� !
 ��� �5 ����� ���� �5 ����� 
� ��  ���
p(X)(|X| − 1)� )� �� �
!
!� ��� �6� 
���� ��
!��� 7�/; 5����6��
-
B�
�!��� *�  �� ���
 � ���� G 
�  �=
 �� 
! ��� ��!�� ���� ��� ���
�
�! �5

�!� ����
��� !�6 ���� �� E 6�
�� ������� 7�/;� L�<!� � ��� 5
!��
�! b ��

b(X) :=
∑

v∈X

p(v) − p(X).

���! b 
� 
!�������
!� �
� ��
���� %��� � ��� X �
��� 
5 iE(X) = b(X)� ��� �
� ���

���
�� �5 b �!� 7�/; 
 ��� ���� ��� 
!
�! 7�!� 
!�������
�!; �5 �6� 
!�������
!� �
���
���� X �!� Y 
� �
��� �
!��

iE(X) + iE(Y ) = b(X) + b(Y ) ≥ b(X ∩ Y ) + b(X ∪ Y ) ≥

≥ iE(X ∩ Y ) + iE(X ∪ Y ) ≥ iE(X) + iE(Y )

5�� 6�
�� �!�  
�� ���� iE(X ∪ Y ) = b(X ∪ Y )� �����5��� ���  �=
 �� �
���
���� ��� �
�9�
!� �!� ��!�� ���  �=
 ��
�� �5 G 
 ��
�� ���� V 
����5 
� �
���� ���� 
��
|E| =

∑
[p(v) : v ∈ V ]�

G�� m(v) := p(v) (v ∈ V )� *� ���� |E| = m(V ) �!� iE(X) ≤ m(X) 5�� �����
X ⊆ V �� 7�/;� )� ��� A�
�!���
�! ��  � 7������ ���;� ����� 
� �! ��
�!���
�! �E �5
E 5�� 6�
�� � �E(v) = m(v) 5�� ����� v ∈ V � %�!�
�
�! 7�/; 
 ��
�� 5�� ��
� ��
�!���
�!

���� �(X) =
∑

[�(v) : v ∈ X] − iE(X) =
∑

[p(v) : v ∈ X] − iE(X) ≥ p(X)� )�

������ 1�#� ����� ��� k ������
�9�
!� ���!!
!� ���!��
!�� �B1, ..., �Bk 6
�� ���� ����
R1, ..., Rk� �������
����� )� ��
� ��!���
��
�!� ���� 
!�����
!� 5����� Bi ���!� 6
��
��� 
!
�
�� ���� Ti 5�� � ���!!
!� ���� �5 G� -
!�� �(v) = p(v) 5�� ���� !��� v� �����
���� �5 G  
�� ����!� �� �!� �5 ����� ������

.��
�� ���� .����*
��
� �8 ������ 
� 
!���� � ����
�� ����+ ��� Ti = ({r}, ∅) 6����
r 
� �! ���
����� !���� ���!

∑
[p(v) : v ∈ X]− p(X) = k(|X| − 1)− 0 = k(|X| − 1)

6��!���� r ∈ X 6�
��
∑

[p(v) : v ∈ X] − p(X) = k|X| − k = k(|X| − 1) 6��!����
v �∈ X� ,! ����� 6����� 7�/; �!� 7#�; ��� �?

����!� 
! ��
� �����
,� ���
�� �� !���� ���� ���  ����
� ����
�
�! ������ ����
��� � ���� ���������
�

���
�! 5�� ��� ������ 5�� 
����� 
! ������ 1�� ���! 
! ���  ��� ��!���� ���� 6��!

����� ����	
��� ��
��� ��� �������



��� ��
	��
� ��
�
���
� ##

��� 
!
�
�� �
������� ��� !�� !�������
�� ����� �
� �!�� 5������� ��� ��
!� 
� ���� 
!
�
� ���� ��� !�������� �!� �
B�
�!� ��!�
�
�! 
� �
 ���� ���! ��� �!� ��
�
!� 5�� 
���  ����
� ��������� �
 
����� �� ��� �
�
��
�! ���
���� ������� 
! ��� ����
�� ����
�5 ������ ��/ �5 .����*
��
� ��
��� 5����6
!� ������ �=��!�
�! �5 ������ 1�1 6�� ���
��� 
! 3#4 6
�� ��� ���� �5

� ������ �5 @��!: �!� ������ 3#�4 �! �����
!� �
��� ��
��� 5
!��
�!� �� �
�������

������� ��� 73#4;� ��� D = (V, A) �� � ��
���� 
���� ���� ��� �� ����������� ���� �
�������� R = {r1, ..., rq} ��� � �������� ��� T � (������ ���� �� ��
� �� D ������ ���
���� �� R� ��� m : R → Z+ �� � ���	���� ��� ��� k = m(R)� ����� ��� k ��������
�������	��	�� �� D �� ���� m(r) �� ���� ��� ������ �� r ��� �������
 T + r ��� ��	�
r ∈ R �� ��� ���� ��

�D(X) ≥ m(R − X) ��� ����� ������ X ⊆ V ��� 
��	� X ∩ T �= ∅� � 7�F;

A! ��� ����� ��!� ��� 5����6
!� ������� ������� ������ ������ �� �� .	��� ������
������ ��#� ���������
��� ������������ ���
�5�
!� 
���� �!� ��6�� ��
!��� A!�  ��
�� 
!�������� 
! � ����
��� ��!����
���
�! 5�� ��� 5�� �6��: �����
��� 
! ������ 1�/�
*� ���6 ���� ��
� ������ 
� .	��� ������ ,!����� ��� D = (V, A) �� � �
�����
6���� !��� ��� 
� ����
�
�!�� 
!�� � �������� R = {r1, ..., rq} �!� � ��� 
!�� ��� T �
-
����� ���� !� ���� �5 D �!���� �!� !��� �5 R�

�()*&)+ �� � ��� ������� �� ��	����
 
������ ����� ��� k �������� �������	��	��
�� ���� ���� ��� ������ �� ������	� ����� �� R ��� ��	� �� ���� ����� T �� )��	��������

������ G�� T �� � ��� 6
�� ���! ����
!��
�� �!� ��� R = {R1, ..., Rq} �� �
����� �5 T
�� ���� |Ri| ≥ 2 5�� i = 1, ..., q� ,� 
� 6����:!�6! ���� ��� ������ �5 ���
�
!� 6������
T ��! �� ������� 6
�� k  � ���� �5 R 
� .	��� ������ G�� DT �� � �
������ �����
�! T 6
�� �DT

(Z) = k − 1 5�� ���� Z ⊆ T, |Z| = 1 �� |Z| = |T | − 1 �!� �DT
(Z) ≥ k

�����6
��� -
�� � ����� ��! �� ��!���
���� ���
�� �� 5����6�� ��:� ��� �� � �
������
&� 
���! ����� �! ��� !���� k − 2 �
 ��� ���! ��� ��� ���� vivi+

|T |
2

�� ��� ����� 5��

���� i = 0, ..., |T | − 1 6���� v0, ..., v|T |−1 ��!��� ��� !���� ������
!� �� ���
� �����
���
!� ��� ����� 7��� 
!�
��� ���  ��!�  ��
�� |T |;� ��� ��
�
!� �
����� ���
�<�� ���

!������� ��!�
�
�!��
�=��!� ��� ����� 6
�� R = {r1, ..., rq} �!� 6
�� � !�6 ��� riv 5�� ���� v ∈ Ri� G��

ri1 , ..., rik ∈ R �� � ��� �5 �
��
!�� �����!����� �� �!��8 �
�9�
!� ���!��
!�� ������ 

 ��
�� ���� ����� ��� ������
�9�
!� ri����������!��� Fi ���!!
!� ri +T 5�� i = i1, ..., ik

5 �!� �!�� 
5 �DT

(Z) ≥ p(Z) 5�� ���� ∅ ⊂ Z ⊆ T 6���� p(Z) ��!���� ��� !
 ��� �5
Ri8� 76
�� i ∈ {i1, ..., ik}; �
�9�
!� 5�� Z� @�� � �
���� Z 6
�� |Z| ≥ 2 ��� 
!�?
��
��
����� �
�� ��
����� ����
�� �5 ��� ���
��
�� �5 DT �!� |Ri| ≥ 2� &�!�� �!� �!�� ���
�� ���� ���
� ���� ��!��
!
!� � �
!��� !��� �!� �� ��� �=
���!�� �5 ��� ���������!���

� �?

����!� �� ����� T 6
�� Ri1 , ..., Rik �
��� ��������
�! �����  ��!� ���� T ��! �� ������� 6
�� k  � ���� �5 R 
5 �!�

�!�� 
5 ��� �
����� 
!��
��� k ���������!��� ������ �� �
N���!� !���� 
! R�

����!���� D� 
�� �� D���� �!� ��:
��6� 3��4 6��� ���� �� <!� � �
���
�
!� !�6
������ �=��!�
�! �5 ��� ����!� �� �!�� ������ 6�
�� 
 ��
�� ������ 1�/ �� 6����

����� ����	
��� ��
��� ��� �������



��� ��
	��
� ��
�
���
� #�

������� ��! 7.� D� 
�� �� .� D����� >� ��:
��6�;� ��� D = (V, A) �� � ��
����
��� R = {r1, ..., rk} ⊆ V � ���� �� k #�������� ��� ������	�$ ����������� ��� Si ������
��� ��� �� ����� ���	����� ���� ri� ����� ��� ��
���������� ri��������	��	�� Fi �������

Si ��� i = 1, ..., k �� ��� ���� ��

�D(Z) ≥ p1(Z) ��� ����� ������ Z ⊆ V 7�(;


���� p1(Z) ������� ��� ������ �� ���� Si ��� 
��	� Si ∩ Z �= ∅ ��� ri �∈ Z� �

��� ��
�
!�� ����5 
�  ��� �� ��
����� ���! ���� �5 ������ 1�# �
� �� ��� 5���
���� ��� ��������!�
!� ��� 5
!��
�! p1 
! ��� ������ 
� !�  ��� �
��� ��
���� )����
�! ������ 1�(� -� @
9
��
�� 3��4 ����!��� 5�
!� � 5
����� �=��!�
�!� @�� �6� �
�9�
!�
�
����� X �!� Y �5 V �5 � �
����� D = (V, A)� 6� ��� ���� Y 
� ��	��	
�� 5�� X

5 ����� 
� � �
������ ���� 
! D 6���� <��� !��� 
� 
! X �!� ���� !��� 
� 
! Y � *�
���� � �
���� U �5 !���� ��
��% 
5 ����� 
� !� !��� v 
! V −U �� ���� U 
� ���������
5�� v �!� v 
� ��������� 5�� U �

������� ��" 7-� @
9
��
��;� ��� D = (V, A) �� � ����	��� 
���� ��� ��� R =
{r1, ..., rk} ⊆ V �� � ���� �� k #�������� ��� ������	�$ ����������� ��� Ui ⊆ V ��
	����� ���� 
��� ri ∈ Ui� ����� ��� ��
���������� ri��������	��	�� Fi �������
 Ui ���
i = 1, ..., k �� ��� ���� ��

�D(Z) ≥ p1(Z) ��� ����� ������ Z ⊆ V 7�0;


���� p1(Z) ������� ��� ������ �� ���� Ui*� ��� 
��	� Ui ∩ Z �= ∅ ��� ri �∈ Z� �

&��	�' ��#� %�!��=
�� ����� �! ����!�
�� ���� 
! ��� ����5 �5 ��� ������ � ,� ��! ��
���6�� ���� ���! �! ������!��� ��
��� 6��:�!
!� �5 ��� �������
�
�� ��!�
�
�!� ���
���

! .	��� ����� ������ �� .� ���� ��� D = (V, A) �� � �
����� 6
�� u1, u2, v1, v2 ∈ V
�!� ��� U1 = V, U2 = V − v1� ��� ������ �5 <!�
!� �6� ������
�9�
!� ���������!���
������ �� u1, u2 �!� ���!!
!� U1, U2� �������
����� 
� .	��� ������
�� ���6 ��
�� ��� D′ �� � �
����� 6
�� u1, u2, v1, v2 ∈ V � ,� 
� 6����:!�6! ���� ���

������ �5 <!�
!� �
�9�
!� u1v1 �!� u2v2 ����� 
� .	��� ������ *�  �� �
����� ����
��� 
!������� �5 v1 �!� v2 
� �!�� G�� D ��!��� ��� ����� ��
�
!� 5�� D′ �� ���
!�
���� v1v �!� v2v �� A 5�� ���� v ∈ V � %������� ����� ��� ������
�9�
!� �
������ u1v1

�!� u2v2 ����� 
! D′ 
5 �!� �!�� 
5 ����� ��� �6� ���������!��� F1, F2 
! D �
�� ����
Fi 
� ������ �� ui �!� ���!� Ui�

I
�����!:��8� ������ ��! �� ��!�
����� �� � �����
!� ��
!������� �5 �� �!��8
���:
!� ������ � A!�  �� �� 
!�������� 
! � �����
!� ��
!������� �5 @
9
��
��8�
������ � *� ���6 ���� ������ 1�0 
 ��
�� �! �=��!�
�! �5 I
�����!:��8� ���
���

�()*&)+ ���$� ��� D = (V, A) �� � ��
���� ��� {r1, ..., rk} = R ⊆ V �� � ��� ��
#��� ��	������ ������	�$ ����������� ��� Ui ⊆ V �� 	����� ���� 
��� ri ∈ Ui� ��� ��
�
��� A 	�� �� 	������ �� ri��������	��	�� Fi �������
 Ui �� ��� ���� ��

�(v) ≤ p1(v) ��� ��	� v ∈ V 7��;

����� ����	
��� ��
��� ��� �������



��� ��
	��
� ��
�
���
� #1

���
p1(X) − �(X) ≤

∑
[p1(v) − �(v) : v ∈ Γ−(X)] 71�;

��� ����� ∅ ⊂ X ⊆ V � 
���� Γ−(X) ������� ��� ������	� �� X ��� p1(X) ������� ���
������ �� ���� Ui*� ��� 
��	� Ui ∩ X �= ∅ ��� ri �∈ X�

������ .�����
��� -
����� ���� ����� ��� k ������ ���������!��� �����
!� A� *�  ��
�
����� ���� Fi ���!� Ui 5�� ���� i ∈ {1, ..., k}� -
!�� �! ���������!�� Fi ��!��
!� !�
���� �!���
!� v 
5 v = ri �� v /∈ Ui� �!� �!� ���� �!���
!� v 
5 v �= ri �!� v ∈ Ui� ���
!�����
�� �5 7��; 5����6� 
  ��
������
.�����
�� �5 71�; ��! �� ���! �� 5����6�� @�� ���� e ∈ A ��� z(e) ��!��� ��� !
 ���

�5 ���������!��� �����
!� e  
!
� 1� ���! z ≥ 0�  ������� �z(X)+�(X) ≥ p1(X) 5��
���� ∅ ⊂ U ⊆ V �!� �z(v) + �(v) = p1(v) 5�� ���� v ∈ V � -
!�� ���� ���� �!���
!�
X ��� 
�� ���� 
! Γ−(X)� 6� ���� �z(X) ≤

∑
[�z(v) : v ∈ Γ−(X)] �!� ����� 
 ���

p1(X) − �(X) ≤ �z(X) ≤
∑

[�z(v) : v ∈ Γ−(X)] =
∑

[p1(v) − �(v) : v ∈ Γ−(X)].

.�6 6� �
�! �� �
B�
�!��� @�� ����� !��� v ∈ V � �
�� � ���� �5 v �� D ��!����
�� v′� @�� � �
���� X �5 V ��� X ′ �� ��� ���� �5 X� >�� p1(v) �������� ����� 5�� v
�� v′� p1(v) − �(v) �������� ����� 5�� v′ �� v� �!� <!���� p1(v) �������� ����� 5�� u
�� v′ 5�� ����� ���� uv ∈ A� G�� D′ ��!��� ��� �
������ ����� ��
� ��
�
!��
,5 ����� �=
�� F ′

1, ..., F
′
k �
�9�
!� ���������!��� 
! D′ �
�� ���� F ′

i 
� ������ �� ri

�!� F ′
i 
� ���!!
!� Ui ∪ U ′

i 76���� U ′
i ��!���� ��� ���� �5 Ui;� ���! ����� ����� 
!�

k ������ ���������!��� �5 D �����
!� A� ,� 
� ���� �� ��� ���� 5�� ����� ��!��= ���
X ⊆ V 
! D ��� 
!
�! X ∪ X ′ ⊆ V ∪ V ′ 
� ���� ��!��= 
! D′�
,! ����� ����� �� @
9
��
��8� ������ � ����� 
� � �
���� W �5 V ∪ V ′ �
�� ����

p′(W ) > �′(W ) 6���� p′(W ) = |{i ∈ {1, ..., k} : (Ui ∪ U ′
i) ∩ W �= ∅, ri /∈ W}|

�!� �′ = �D′ � *� ��<!� ��� 5����6
!� �
����� �5 W + X = {v ∈ V : v ∈ W}�
Y = {v ∈ V : v′ /∈ W}� �!� Z = {v′ ∈ W : v /∈ W}� *� ����

p′(W ) ≤ p1(X) +
∑

[p1(v) : v′ ∈ Z].

A! ��� ����� ��!�

�D′(W ) ≥ �(X)+
∑

[p1(v)−�(v) : v ∈ Y ]+
∑

[p1(v) : v ∈ Γ−(X)−Y ]+
∑

[p1(v) : v′ ∈ Z].

��� �=���!��
�! �5 ��� ����!� �
 
� ���� 
5 v ∈ Γ−(X)− Y � ���! v′ ∈ W ���� ������
M�������� ����� �=
���� �
!�� v 
� 
! ��� �!���!��� u /∈ W �
�� ���� uv ∈ A� ��!��
����� ��� p1(v) ���� 5�� u �� v′�
@�� ����� 
!�?
��
�
�� 6� ���

p1(X) > �(X) +
∑

[p1(v) − �(v) : v ∈ Y ] +
∑

[p1(v) : v ∈ Γ−(X) − Y ] ≥

≥ �(X) +
∑

[p1(v) − �(v) : v ∈ Γ−(X)],

��!����
��
!� ��!�
�
�! 71�;�

����� ����	
��� ��
��� ��� �������



��� &��
��	
 ��
�
���
� #�

��� �����
�� ����
�	�
�

����� 
� �!����� �
!� �5 �=��!�
!� ������ #�# 
! 6�
��� ������ ���! 6��:
!� �
������
6
�� ���������!���� �!� ��!�
���� �
�9�
!� ����������
!�� �5 �����
! 5� 
�
�� �5 ���� ��
�
������ *� ��� ���� � ��� F �5 �
������ ����� ������ � ��� �� �
���� X 
5 �� ����� �!�
��� �!� �5 F �!���� X� > 5� 
�� �5 ���� �� �
����� 
� ������� �� F 
5 ����  � ��� �5

� 
� ��������

������� ���� 73#�4;� ��� D = (V, A) �� � ��
���� ��� F �� �������	���
 ������ ��
������� �� V � "� �� �������� �� ��������� A ���� k 	������
� �� F �� ��� ���� �� ���
�����
��� �� ����� ������ �� F �� �� ����� k� �

A��
�
���� 6��! F ��!�
��� �5 ����� !�!�� ��� �
���� �5 V − r0� 6� ����
! ���
6��: 5�� �5 �� �!��8 ������ � > �
�����!���� �5 ������ 1�## 
� ���� 
� ���� !��

 ��� ��� ����!� ����
�! �5 �� �!��8 ������ � ��� 5����6
!� ���
�� �5 G� -���O 31F4�
��6����� ������ � ��
� �
B�
����

������� ���� 7G� -���O;� ��� F1, ...,Fk �� �������	���
 �������� �� ������� �� �����
�� � ��
���� D = (V, A) 
��� ��� �����
��
 ����� �������	���� ��������+

X ∈ Fi, Y ∈ Fj, X ∩ Y �= ∅ ⇒ X ∩ Y ∈ Fi ∩ Fj.

���� A 	�� �� ����������� ���� k ������� A1, ..., Ak ��	� ���� Ai 	����� Fi ��� ��	�
i = 1, ..., k �� ��� ���� �� �D(X) ≥ p1(X) ��� ��� ��������� X ⊆ V 
���� p1(X)
������� ��� ������ �� Fi*� 	��������
 X� �

&�6����� ������ 1�#� ���� !�� 
 ��� ������ 1�(� ,! 3#4� 6� ���
��� �! �=��!�
�!
�5 -���O8� ������ �� �
���� 5� 
�
���
��� �
���� 5� 
�
�� F1, ...,Fk ��
� �� ���
�5� ��� ��%�� �
���������
 �������� 
5

X ∈ Fi, Y ∈ Fj, XI ∩ YI �= ∅ ⇒ X ∩ Y ∈ Fi ∩ Fj .

@�� � �
���� X� ��� p2(X) ��!��� ��� !
 ��� �5 
!�
��� i 5�� 6�
�� Fi ��!��
!� X�
@�� X ∈ Fi, Y ∈ Fj� ��� 
!��
�
�! X ⊆ Y 
 ��
�� X = X ∩ Y ∈ Fj �!� ��!�� p2 
�
 �!���!� !�!�
!�����
!� 
! ��� ��!�� ���� X ⊆ Y � p2(X) > 0 �!� p2(Y ) > 0 
 ���
p2(X) ≥ p2(Y )�

������� ���� 73#4;� ��� D = (V, A) �� � ��
���� ��� F1, ...,Fk �������	���
 ��������
�� ������� �� 
����� ��� V ���������
 ��� ����� �������	���� ��������� ��� ��
�� �� D
	�� �� ����������� ���� k ������� A1, ..., Ak �� ��	� � 
�� ���� Ai 	����� Fi ��� ��	�
i = 1, ..., k �� ��� ���� ��

�D(X) ≥ p2(X) ��� ����� ������ X� � 71#;

��� ����5 �5 ��
� 6�!� ���!� ��� �� � �
!� �� G�����8 ��
�
!�� ����5 5�� �� �!��8
������ �!� 6�� ����� �! ��� 5����6
!� ���������

,���	 ����� "� p2(X) > 0, p2(Y ) > 0 ��� XI ∩ YI �= ∅� ���� p2(X) + p2(Y ) ≤
p2(X ∩ Y ) + p2(X ∪ Y )� ,�������� �� ����� �� �� Fi ��� 
��	� X ∩ Y ∈ Fi ���
X, Y �∈ Fi� ���� ����	� ��� ������ ������ �

����� ����	
��� ��
��� ��� �������



��� &��
��	
 ��
�
���
� #/

&��� 6� ��� ��
!� �� ���6 ���� ������ 1�#1 
 ��
�� @
9
�
��8� ������ � �� 6����

����� �� ������� -�.� ,5 ��� !��� ��� �5 �! ���������!�� F �5 ���� ri 
!�������� �
�
���� Z ⊆ V − ri� ���! F ��!��
!� �! ��� �!� �!���
!� Z� �����5��� 
5 ��� k �����
�
�9�
!� ���������!��� �=
��� ���! Z �� 
�� ��  �!� �!���
!� ����� �� ��� !
 ��� �5
���� Ui 5�� 6�
�� Z ∩ Ui �= ∅ �!� ri �∈ Z� ���� 
�� 711; 
� 
!���� !���������
-
B�
�!��� @�� ����
��� 6� ���� � ����!��� ��!!����� �� ��!�!� �5 D �! 	����

,� 
� :!�6! ���� ��� ��� � 5�� � ����
�
�! �5 ��� !��� ��� �5 D �!� ���� ����� 
� �
��������� �������
��� �����
!� �5 ��� ��� � �� ���� ����� 
� !� ���� 5�� � ����� ��� 
�� �! ����
�� �!�� )� � ��
	��� 6�  ��! � �
���� �5 �! ��� � %������� � �
����
X ⊆ V 
� � �
���� 
5 �!� �!�� 
5 �!� �6� ��� �!�� �5 X ��� ��������� 
! D 5�� 
���� ������ ��� 5����6
!� ��������
�! 
� ���
�
� 5�� ��� ��<!
�
�!��

�&*�*-.�.*/ ����� "� � ������� X �������	�� � 	����� ��� U � ���� X ⊆ U �

L�<!� k �
���� 5� 
�
�� Fi 5�� i = 1, ..., k �� 5����6�� G�� Fi := {(XO, XI) : XO ⊆
V − ri, XI = XO ∩ Ui �= ∅� XI 
� � �
���� }� @�� ���� �
���� X� ��� p2(X) ��!���
��� !
 ��� �5 Fi8� ��!��
!
!� X� ,� 5����6� 
  ��
����� ���� Fi 
� �! 
!�������
!�
�
���� 5� 
���

�&*�*-.�.*/ ��� � ��� ������ �������� Fi ������� ��� ����� �������	���
 ���������

������ G�� X = (XO, XI) �!� Y = (YO, YI) ��  � ���� �5 Fi �!� Fj� �������
�����
�!� �
����� ���� X �!� Y ��� 
!�������
!�� ���� 
�� XI ∩ YI �= ∅� )� 	�����
�
�!
1�#/� 6� ���� ���� XI = XO ∩ Ui ⊆ Ui ∩ Uj �!� YI = YO ∩ Uj ⊆ Ui ∩ Uj � ��
�

 ��
�� 5�� ��� ���� ZO := XO ∩YO �!� ZI := XI ∩YI ���� ZO ∩Ui = XO ∩Ui ∩YO =
XO∩Ui∩YO∩Uj = ZI �!� ���� ZO∩Uj = XO∩YO∩Uj = XO∩Ui∩YO∩Uj = ZI 5�� 
6�
�� ZI ⊆ Ui∩Uj �!� (ZO −ZI)∩ (Ui∪Uj) = ∅� &�!�� X ∩Y = (ZO, ZI) ∈ Fi∩Fj �
�� ��?

����

�&*�*-.�.*/ ���!� �(X) ≥ p2(X) ��� ��	� ������ X�

������ G�� q := p2(X) �!� �
����� ���� X ����!�� �� F1,F2, ...,Fq� G�� V ′ :=
V − (U1 ∪ ... ∪ Uq) �!� Z := XI ∪ {v ∈ V ′ : XI 
� ��������� 5�� v}�
G�� e = uv �� �! ���� �5 D �!���
!� ��� ��� Z� ���! u ��!!�� �� 
! V ′ − Z 5��

�����6
�� XI 6�
�� �� ��������� 5�� u �!� ���! u ���
�� ����!� �� Z� �����5��� u

� 
! (U1 ∪ ... ∪ Uq) − Z� G�� Ui �� �!� �5 ��� ���� U1, ..., Uq ��!��
!
!� u� *� ���
 
���� ��� ���� v �5 e  
�� �� 
! XI � @�� �����6
�� 6� ��� 
! � ��!����
��
�! 6
�� ���
��������
� ���� Ui 
� ��!��= �
!�� v 
� ��������� 5�� Ui 7���!� ��� ���� uv; �!� Ui


� ���� ��������� 5�� v �
!�� XI ⊆ Ui 
� ��������� 5�� v�
,� 5����6� ���� ��� ���� e �!���
!� ��� ��� Z ���� �!���� ��� �
���� X = (XO, XI)�

�����5��� �(X) ≥ �(Z)� )� 711;� 6� ���� �(Z) ≥ p1(Z)� ,� 5����6� 5�� ��� ��<!
�
�!
�5 Z ���� p1(Z) ≥ q = p2(X)� �!� ��!�� �(X) ≥ p2(X)

�����5��� ������ 1�#1 ����
�� �!� ��!�� ��� ����� �5 D ��! �� ����
�
�!�� 
!��
�
����� A1, ..., Ak �� ���� Ai ������ Fi 5�� i = 1, ..., k�

�&*�*-.�.*/ ���"� /�	� Ai ��	����� �� ri��������	��	� Fi 
��	� ����� Ui�

����� ����	
��� ��
��� ��� �������



��	
��
  � ��#������# �
� �#����
�'�	 ��(�	
� #F

������ ,5 ��� ��?
����� ���������!�� ���� !�� �=
�� 5�� �� � i� ���! ����� 
� � !�!�
� ��� �
���� Z �5 Ui − ri �� ���� Ai ��!��
!� !� ���� 5�� Ui − Z �� Z� %�!�
��� �
�������
��� �����
!� �5 ��� ��� � �!� ��� Q �� ��� ����
��� �!� 
!�������
!� Z� -
!��
!� ���� ����
!� � ����� ��� ��! �!��� Q� !� ���� 6
�� ��
� 
! Z �!���� Q�
G�� XO := (V −Ui)∪ (Z ∩Q) �!� XI := XO ∩Ui� ���! XI = Z ∩Q 
� � �
���� 

�!� X = (XO, XI) ����!�� �� Fi� �����5��� ����� 
� �! ���� e = uv 
! Ai 6�
��
�!���� X� ,� 5����6� ���� v ∈ XI ⊆ Z �!� ���� u ∈ Ui − XI � -
!�� u 
� !�� 
! Z �!�
!�� 
! V − Ui� 
�  
�� �� 
! Ui − Z� ���� 
�� e 
� �! ���� 5�� Ui − Z �� XI ⊆ Z�
��!����
��
!� ��� ���
 ��
�! ���� !� �
�� ���� �=
����

,� 
� 6����  �!�
�!
!� ���� ������ 1�#1 ��� �! �?

����!� 5�� ���� 
��� T �

!�������
!� 5� 
�
�� 
!����� �5 �
����� 3#4� @�� � �
���� T �5 V � 6� ���� ��� ��� 5� 
�
��
F1, ...,Fk T ��������	���
 
5

X, Y ∈ Fi, X ∩ Y ∩ T �= ∅ ⇒ X ∩ Y, X ∪ Y ∈ Fi.

*� ��� ���� F1, ...,Fk ���
�5� ��� ����� T ��������	���� �������� 
5

X ∈ Fi, Y ∈ Fj, X ∩ Y ∩ T �= ∅ ⇒ X ∩ Y ∈ Fi ∩ Fj.

���! ��� �?

����!� 5�� 
� �� 5����6��

������� ���# 73#4;� ��� D = (V, A) �� � ��
���� ��� T � ������ �� V ���� 	�������
��� ���� �� ����� ��
� �� D� ��� F1, ...,Fk �� T ��������	���
 �������� ���� ���������

��� ����� T ��������	���� ��������� ���� A 	�� �� ����������� ���� ������� A1, ..., Ak

�� ���� Ai 	����� Fi �� ��� ���� �� �(X) ≥ p(X) ��� ��	� ��������� ������ X �� V

���� p(X) ������� ��� ������ �� Fi*� 	��������
 X� �

� ���������� ��� �����
���
	 ����	��

��� ���
���� �
��	
� �� 
��������
���

,! 3F4� �� �!�� ��
!��� �
� ���� � �
����� D = (V, B) 
� ��� 
!
�! �5 k ������
�9�
!�
���!!
!� ���������!��� �5 ���� r0 
5 �!� �!�� 
5

�(r0) = 0 �!� �(v) = k 5�� ����� v ∈ V − r0 71�;

�!� ��� 
!�����
!� 
!�
������ ����� �5 D 
� ��� 
!
�! �5 k ������
�9�
!� ���!!
!�
������
2� �� �!�� �!� L��� @
�:����! 3�4 ������ ���� ��� �
 7�� 
!
�!; �5 �� �  ����
��

5�� � �  ����
�� 
! ����
�
���� ��� �
����� �5 ����� �5 � ����� 6�
�� ��� ��� 
!
�! �5 k
������
�9�
!� ���!!
!� ����� 5�� ��� ��� �5 ����� �5 �  ����
� ��!���� ��M1� G��M2

��!��� ��� ����
�
�!  ����
� 6���� ��� �5 ����� 
� ��<!�� �� 71�;� �����5��� <!�
!�
� �������� �
������ �5 � �
����� 6�
�� 
� ��� 
!
�! �5 k ������
�9�
!� ���������!���

����� ����	
��� ��
��� ��� �������



 �� ����(��
 (�	��
� �$ �������	�
	�� #(


� �?

����!� �� �� �
�
!� � �������� ��  �! ���
� �5  ����
�� M1 �!� M2� ��
�
��! �� ��!� 6
�� ��� ���� �5 �!� 6�
�����  ����
� 
!�������
�! �����
�� � >  ����
�

!�������
�! �����
�� ��! �!�� �� ����
�� 
5 ��� 
!����!��!�� ������� 7�� �?

����!�;
5�� ��� �6�  ����
�� ��� 
!���� ���
������ ��
� 
� ���
�
��� ��� ���� 5�� ��� ����
�
�!
 ����
� M2� >� 5�� �� M1 
� ��!���!��� �� �!��8 3/4 ����!� 
����
 � �����
�� 5��
�� �
�
!� ��� ��!: �5 ��� �
 �5  ����
�� ����
��� ��� ��?
����� �������
@
9
��
�� �������� ���� � �
 
��� �������� 6��:� 5�� �
� �=��!�
�! ������ G��

D = (V, A) �� � �
������ ����� �!� ��� R = {r1, ..., rk} ⊆ V �� � �
�� �5 k 7����
���
!�� �
��
!��; �����!����� G�� Ui ⊆ V �� ��!��= ���� 6
�� ri ∈ Ui� ������ ���� p1(X)
��!���� ��� !
 ��� �5 ���� Ui8� 5�� 6�
�� Ui ∩ Z �= ∅ �!� ri �∈ Z�
G�� G = (V, E) ��!��� ��� 
!�����
!� 
!�
������ ����� �5 D �!� �
����� ���� ����

Ui 
!�
��� � ��!!����� �
������� G�� Ni �� �  ����
� �! A 
! 6�
�� � �
���� 
� �
����� 
5 ��� ��������!�
!� 
!�
������ ��� �5 ����� 5�� � � ���� �5 G ���!!
!� Ui� G��
M1 �� ��� �
 �5  ����
�� N1, ..., Nk� G�� M2 �� � ����
�
�!  ����
� �! A 
! 6�
��
� �
���� A′ 
� � ����� �A′(v) = p1(v) 5�� ����� !��� v ∈ V �

������� ��� 7-� @
9
��
��;� � ���
���� D′ = (V, A′) �� D �� � ������� ���
����
#
��� �����	� �� ��
����������$ ��	�����
 �������� ri��������	��	�� Fi �������
 Ui ���
i = 1, ..., k �� ��� ���� �� A′ �� � 	����� ����� �� �������� M1 ��� M2�

������ @�� �� �����!���� ��� ����5 �5 ��� ������ 
� ���� �����!���� ,5 D′ 
� �  
!
�
 �� �
������ 
!��
�
!� ��� ��?
����� k ���������!���� ���! A′ ����
�
�!� 
!�� �����
���������!��� 
 ���
!� ���� A′ 
� 
!���� � ��  �! ���
� �5 M1 �!� M2�
%�!�������� �
����� ���� A′ 
� � ��  �! ���
�� *
���
� ���� �5 ��!����
��� 6�  ��

���
 � ���� ��� ����� ri ��� �
��
!��� G�� R = {r1, ..., rk}� A������ ����

iA′(Z) ≤
∑

ri∈Z

(|Z∩Ui|−1)+
∑

ri �∈Z,Z∩Ui �=∅
(|Z∩Ui|−1) =

∑

Z∩Ui �=∅
(|Z∩Ui|)−|Z∩R|−p1(Z)

�!� ���� ∑

v∈Z

p1(v) =
∑

Z∩Ui �=∅
(|Z ∩ Ui|) − |Z ∩ R|

5�� 6�
��

�A′(Z) =
∑

[�A′(v) : v ∈ Z] − iA′(Z) =
∑

[p1(v) : v ∈ Z] − iA′(Z) ≥

≥
∑

[p1(v) : v ∈ Z] −
∑

Z∩Ui �=∅
(|Z ∩ Ui|) + |Z ∩ R| + p1(Z) = p1(Z).

)� ������ 1�0� A′ 
!��
��� k �
�9�
!� ri����������!��� ���!!
!� �������
���� Ui

(i = 1, ..., k)� L
� �� ��� ���
 ��
�! ���� �A′(v) = p1(v) 5�� ����� !���� �����
���������!��� ����
�
�! A′� ���� 
�� A′ 
� �  
!
 �� �
���� �5 A 
!��
�
!� ��� k �
�9�
!�
���������!����

L
� �� ��
� ���
��� �  
!
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!� ri����������!��� ���!!
!�
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��� 6
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�����  ����
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9
��
��8� ������ ��! ���� �� ��5�� 
����� 
! ��� � �5 ��������� �!� ���!��
!���

������� ���� ��� D = (V, A) �� � ����	��� 
���� ��� ��� R = {R1, ..., Rk} �� � ����
�� k #�������� ��� ������	�$ ���������� ��� Ui ⊆ V �� 	����� ���� 
��� Ri ⊆ Ui� �����
��� ��
���������� Ri�����	���
� Bi �������
 Ui ��� i = 1, ..., k �� ��� ���� ��

�D(Z) ≥ p1(Z) ��� ����� ������ Z ⊆ V 711;


���� p1(Z) ������� ��� ������ �� ���� Ui*� ��� 
��	� Ui ∩Z �= ∅ ��� Ri ∩Z = ∅� �

,! 31/4 7��� ���'��#;� -���
9��� �����!��� � ����!��� ����!� 
�� �
 � �����
�� ��
<!�  �=
 
 !
 ��� �5 r����������!��� 
!��� �����
�� �����
��
�!�� )� 5����6
!�
�
� ��������� �!� ��! <!� �
�9�
!� ���!��
!�� ���
�5�
!� ��� ��!�
�
�!� �5 ������ 
��� 
! ����!��� ����!� 
�� �
 � ���! 
! ���  ��� ��!���� ���� 6��! � �� �!� 5
!��
�!

� �
��! �! ��� ��� �5 ����������

�()*&)+ ���� ��� D = (V, A) �� � ��
����� g : A → Z+ � 	���	��� ���	�����
R = {R1, ..., Rk} � ���� �� ���������� U = {U1, ..., Uk} � ��� �� 	����� ���� 
��� Ri ⊆ Ui�
��� m : R → Z+ � ������ ���	����� ����� �� � �����
�� ���������� ���� ��
������
���� '��� #�� ����� �����$ m(R) �������� ����	���
� �� ���� m(Ri) �� ���� ��� �������

Ui 
��� �������� Ri ��� ��	� ��
� e ∈ A �� 	�������� �� �� ���� g(e) ����	���
��

������ @�� ����� Z ⊆ V � ��� p1(Z) =
∑

[m(Ri) : Ri ∈ R, Ri ∩ Z = ∅, Ui ∩ Z �= ∅]�
)� ������
!� ����� ��� a �� g(a) �������� ����� 
� 5����6� 5�� ������ ��� ���� ���
��?

��� ���!��
!�� �=
�� 
5 �!� �!�� 
5

�g(Z) ≥ p1(Z) 5�� ����� Z ⊆ V � 71�;

��� ��������� ��� ����
���� 
!������� �
�
!� ��� �����
�� � �!� ���� ��� ��� �5
���������  �� ���� � ������� *� ��6��� ���
�! �!� �5 ��� ��!��= ���� �� ��� !�6��
������
!� ���������� *�  �� ���
 � ���� g �!� m ��� ���
���� ���
�
�� �����6����
�!� 71�; 
� ���
�<���
*� ��� ��!� 
5 Ri = Ui 5�� ���� i �� ���
 � ����� ���� R1 ⊂ U1� G�� e = uv �� �!

��� 6
�� u ∈ R1, v ∈ U1 − R1 �!� ��<!� ��� 5����6
!� ���� �����

μ = min
{
g(e), m(R1), min{�g(W ) − p1(W ) : e �!���� W, R1 ∩ W �= ∅}}. 71/;

��� ���
� �5 μ ��! �� ����� 
!�� 
! ����!��� ����!� 
�� �
 � �� �� �
�
!� �  �=
�
 
 E�6 
! �! �
=
�
��� ������
)� ������ ���� ����� 
� �! ��� e 5�� 6�
�� μ 
� ���
���� ���
�
��� >�� e �� μ ���
��

�5 ��� m(R1) ���!��
!�� �� �� ������ �� R1� m(R1) := m(R1) − μ� M�������� ��� �
���� �5 R := R1 + v �� R 7���! 
5 
� 6�� ������� ���  � ��� �5 ��� ���������;� ��<!�
m(R) := m(R) + μ �!� ���
�! ��� �� � ��!��= ��� �� R �� �� R1� @
!����� ���
�� g(e)
�� g(e) − μ� L
� �� ��� ��<!
�
�! �5 μ� ��� ���
��� ������ ����  ���� 71�; �!� 6�
��! ����� ��� ���
� ���� ���
��
�����
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71/; 
� ��:�! �! g(e) �� m(R1)� ,5 ���  
!
 
 
� ��:�! �! g(e) 5�� �� � ��� e� ���!
��� !
 ��� �5 ���� 6
�� ���
�
�� �����
�� ��������� 6�
��  �� �����! ��  ��� |A|
�
 ��� .��� ���� ��� ��� �5 ���������  �� 
!������ �!�� 
! ����� ������� A����6
���
���  
!
 
 
� ��:�! �! m(R1)  ��!
!� ���� R1 ���� �
� 5�� ��� ��� �5 ����������
��� �
�� �5 ���� �������� 
!������� ��  ��� |V | �
 �� �!� ��� ��� �5 ���������  ��

!������� ������
!� �� ��� ������ ��  ��� |A| �
 ��� ��!�� ��� ����� !
 ��� �5 ������

� ��
!��� �� |A||V |�
,� �!�� �� �
!� �� ��:� 
!�� ����
!� ����� ������ 6��! ���  
!
 
 
� ��:�! �!

min{�g(W ) − p1(W ) : e �!���� W, R1 ∩ W �= ∅}� ��� �������� �5 31/4 ���� !��
6��: �
������ ���� �� 
� ����!��� ���
�� �! ��� �
��� ��
���
�� �5 ��� ��� 5
!��
�!
p(Z) =

∑
[m(Ri) : Ri ∈ R, Ri ∩Z = ∅]� >� 6� �������  �!�
�!�� 
! -���
�! 1� p1 
�

!�  ��� �
��� ��
��� 75�� ���� ���� �����! ��� ��
�
!�� ����5 �5 ������ ��� 6�� 5��
 ��� �� ��
����� ���! ��� �!� G����� ���� �� �� �!��8 ������ ;� L�<!� ��� �
����
5
!��
�! p2(X) =

∑
[m(Ri) : Ri ∈ R, XO ∩ Ri = ∅, XI = XO ∩ Ui �= ∅] 
5 XI 
� �

�
���� � �!� 0 �����6
���
������ ����� �� ��� ����5 �5 ������ 1�0� 71�; 
� �?

����!� �� ��?

�
!� ����

�g(X) ≥ p2(X) 5�� ���� �
���� X ∈ P2� ��!�� ��� ������ 
!�?
��
�� ���� ����� ����
���
�
� ��� �����
�� � ��� ����!���� �5 
�
!� �
����� 
� ���� p2 
� ���
�
���� 
!�������
!�
�
��� ��
��� �! P2 7��
� ��! �� ���! �
 
����� �� G�  � 1�#�;� ��� �������
�!
C = {X ∈ P2 : �g(X) = p2(X) > 0} �5 �
��� �
����� 
!������� 
! ��� ��!�
�����
������ 7�g(X) > 0  �� �� ���
 ��� �����6
�� ���  
!
 
 
! 71/; 
� ���� ��:�! �!
g(e) �!� �
�� ������ ��� ������� ��
!���;�
G�� CO(e) = {XO : X ∈ C, e �!���� X} 5�� ���� e ∈ A� &�6����� |CO(e)| =

|{X ∈ C : e �!���� X}| ����� 5�� ���� e� �� ��� ��
�� ��� X �� � �
���� ���� ���� ��
�
��� �
�
!� ��� ���
�
�! ���� �!� ���
 � ���� e = uv �!���� X� @�� �! ���
����� ���
ZO ��!��
!
!� v� ����� 
� ��  ��� �!� ��� ZI �
�� ���� v ∈ ZI �!� p2((ZO, ZI)) > 0�
.� ���� ZI  
�� �� � �
���� �!� 
�  
�� ��
�� �� ��� 
!�������
�! �5 ZO �!� ��� ��� 
��!��
!
!� v� &�!�� 5�� ���� ZO ∈ CO(e) ��� ��������!�
!� 
!!�� ��� ZI 
� 
!
?
���
����� 
!��� ��
� 
 ��
�� ���� XO �∈ CO(e) ��5��� ��� ���
�
�! ���� �� �����6
��
X ∈ C� � ��!����
��
�!�
��� ����� 
  ��
����� 
 ��
�� ���� 
5 C 
!������� ���! ���� CO(e) 
!������� 5�� �� �

e ∈ A� ,5 �! ���� e �!���� ���� X, Y ∈ C� ���! �g(X ∩ Y ) > 0 �!� �g(X ∪ Y ) > 0�
��� �
� ��
���
�� �5 �g �!� ���
�
���� 
!�������
!� �
��� ��
���
�� �5 p2 
 ��
��
���� CO(e) 
� � ����
�� 5� 
��� >� � ����
�� 5� 
�� L 
� 
!
?
��� ����� 
!�� �� ���
�������� ��<!�� ��

s � t ⇔ ���� ��� 
! L ��!��
!
!� t ���� ��!��
!� s,


5 L 
!������� ���! � ���������� 6�
�� ��! �����! ��  ��� |V |2 �
 ��� &�!�� CO


!������� ��  ��� |V |2 �
 �� 5�� ���� e ∈ A� �!� ��� ����� !
 ��� �5 ������ 
�
O(|A||V |2)�
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G�� D = (V, A) �� � �
������ R = {r1, ..., rk} � ��� �5 �����!���� �!� U = {U1, ..., Uk}
� ��� �5 ��!��= ���� 6
�� ri ∈ Ui 5�� ���� i� *� ��� ���� ��� �
����� 
� 	�
������
���
�	�'	
�� 76
�� ������� �� U; 
5 ����� ��� k �
�9�
!� ���������!��� F1, ..., Fk �� ����
Fi 
� �! ri����������!��� ���!!
!� Ui� A
� !�=� ���� 
� �� �����
�� ��� ��!��= �
�� �5
��� 
!�
��!�� ������� �5 ���������!������:���� �
������� �5 D�
*�  �� �
����� ���� ��� ���� !���� r1, ..., rk ��� �
��
!��� ���� ���
!� �=�����

�!� ����
!� ���� �!� !� �!���
!� �!��� G�� R = {r1, ..., rk} �!� T = V − R� ��
Ui ∩ R = {ri} 5�� ���� ri ∈ R� @�� ����� !�!�� ��� �
���� Z �5 T � ��� p1(Z) ��!���
��� !
 ��� �5 ����� ri 5�� 6�
�� Z ∩ Ui �= ∅� ,! ����
�
���� 5�� ����� v ∈ T � p1(v) 
�
��� !
 ��� �5 ����� ri 5�� 6�
�� v ∈ Ui�

������� ���� ��� D = (V, A) �� � ��
���� �� 
��	� R �� � ��� �� k ���������� �� ����
��� ������
��� ��� ��� �����
��� �� ��	� ��������� �� ��� ��� 0���� �����	������� ���
T = V − R ��� ��� ��	� ��������� ri ��� Ui �� � 	����� ��� ��� 
��	� Ui ∩ R = {ri}�
���� D �� �������	��	����	1���� �� ��� ���� �� �(Z) ≥ p1(Z) ��� ����� ������ Z ⊆ T.
�

L�<!� k �
���� 5� 
�
�� Fi 5�� i = 1, ..., k �� 5����6�� G��

Fi := {(XO, XI) : XO ⊆ T, XI = XO ∩ Ui �= ∅, XI is a subatom}.
@�� ���� �
���� X� ��� p2(X) ��!��� ��� !
 ��� �5 Fi8� ��!��
!
!� X� ,� 5����6�

  ��
����� ���� Fi 
� �! 
!�������
!� �
���� 5� 
���

&��	�' ���� -
����� ���� ��� �
�������� �5 ��� �����!���� 
! R  �� �� ������ ���!
�!�� G�� U = {U1, ..., Uk} �� � ��� �5 ��!��= ���� �� ���� Ui ∩ R = {ri} 5�� ����
ri ∈ R� @
����� ���� ��� m : R → Z+ �� � �� �!� 5
!��
�! �! ��� �����!���� ��
���� m(R) = t� )� @
9
��
��8� ������ � ����� ��� t �
�9�
!� ���������!��� �� ���� ri


� ��� ���� �5 mi ���������!��� ���!!
!� Ui 
5 �!� �!�� 
5

�(Z) ≥ p1(Z)

5�� ����� �
���� Z ⊆ V 6����

p1(Z) =
∑

ri /∈Z, Z∩Ui �=∅
m(ri).

,! ��
� ���� ��� �
���� 5� 
�
�� ���
�� �� ��<!�� �� 5����6�� G��

F j
i := {(XO, XI) : XO ∩ T �= ∅, XI = XO ∩ Ui, ∅ �= XI ⊆ T is a subatom}

6���� i = 1, ..., k �!� j = 1, ..., m(ri)� ,� 
� ���� �� ��� ���� F j
i 
� �! 
!�������
!�

�
���� 5� 
��� &�6����� ��
� 5�� 5����6� 5�� ������ ��� �� �! ���� ��!���
��
�!�
-
!�� ��� ����� �!�� ��� �
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�
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��� 6� ����� �6� 
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�
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,)++0 �� � ��� ����� ������ X = (XO, XI) ����� �� � ������ Z ⊆ T ��� 
��	�
p1(Z) ≥ p2(X) ��� Δ−(Z) ⊆ Δ−(X)�

������ G�� q := p2(X)� ,5 q = 0� ���! Z := ∅ 6
�� ��� -
����� ���� q ≥ 1 �!�
X ����!�� �� F1,F2, ...,Fq� G�� V ′ := V − (U1 ∪ ... ∪ Uq)� *� ���
 ���� ��� ���
Z := XI ∪ {v ∈ V ′ : XI 
� ��������� 5�� v} ���
�<�� ��� �������
�� ��?

��� �� ���
��  ��
A!� ���
�
��� ��� p1(Z) ≥ q = p2(X) �
!�� Z 
!�������� ���� �5 U1, ..., Uq� %�!�
���

!�6 �! ���� e = uv �5 D �!���
!� Z� ��� ��
� u �5 e ��!!�� �� 
! V ′−Z 5�� �����6
��
XI 6�
�� �� ��������� 5�� u �!� ���! u ���
�� ����!� �� Z� �����5��� u  
��
�� 
! (U1 ∪ ... ∪ Uq) − Z� G�� Ui �� �!� �5 ��� ���� U1, ..., Uq ��!��
!
!� u� ���!
��� ���� v �5 e  
�� �� 
! XI � 5�� �����6
�� v 
� ��������� 5�� Ui 7���!� ��� ����
uv; �!� XI 
� ���� ��������� 5�� v �� ��� ��<!
�
�! �5 Z �
� ��
� ��!����
��� ���
��!��=
�� �5 Ui �
!�� XI ⊆ Ui� &�!�� ��� ���� e �!���
!� ��� ��� Z ���� �!���� ���
�
���� X = (XO, XI)�

,)++0 ��!� ��� ����� ������ Z ⊆ T � ����� ��� ������� X1, ..., Xt �� ����
∑

[p2(Xj) :

j = 1, ..., t] = p1(Z) ��� {Δ−(Xj) : j = 1, ..., t} �� � ��������� �� Δ−(Z)�

������ G�� CZ := {C1, ..., Ct} ��!��� ��� ��� �5 ��� � �5 D 
!�������
!� Z �!� ���
 �
���� 
��  � ���� ��� ����!��� 
! � �������
��� �����
!�� ���� 
�� !� ���� �5 D ����
!�
� Cj �!���� � Ci 5�� 6�
�� i < j� @�� ���� j = 1, ...., t� ��� Xj = (Xj

O, Xj
I ) 6����

Xj
O := Z ∩ (C1 ∪ ... ∪ Cj) �!� Xj

I := Z ∩ Cj� *� ���
 ���� ����� �
����� Xj ���
�5�
��� �������
�� ��?

��� �� ��� ��  ��
,5 �! ���� e = uv �!���� � �
���� Xj� ���! 
�� ���� v 
� 
! Z ∩ Cj 6�
�� 
�� ��
� u

 
�� �� �
��
�� Z �� ��� �������� �5 ��� �������
��� �����
!�� ���� 
�� e �!���� Z�
���� ��
� �!� ��� ���
�
� 5��� ���� {Xj

I : j = 1, ..., t} 5�� � � ����
�
�! �5 Z 
 ���
{Δ−(Xj) : j = 1, ..., t} 5�� � � ����
�
�! �5 Δ−(Z)�
G�� UZ := {U ∈ U : U 
!�������� Z}. .��� ���� |UZ| ��� ���! ��!���� �� p1(Z) �!�

������ ���� �! ��� 
� �
���� �
�9�
!� 5�� �� 
!��
��� �� � ��!��= ���� @�� j = 1, ..., t�
��� U j

Z := {U ∈ UZ : j 
� ��� � ������ �
����
�� 5�� 6�
�� Cj ∈ CZ �!� Cj ⊆ U}� -� �
�5 ��� U j

Z 8�  �� �� � ��� �
� ��� !�!�� ��� �!�� 5�� � ����
�
�! �5 UZ � @�� ����
j = 1, ..., t� �!� ��� p2(Xj) = |U j

Z | �!� ��!��

p1(Z) = |UZ | =

t∑

j=1

|U j
Z | =

t∑

j=1

p2(Xj),

�� ��?

����

%�!�
��� ��� 5����6
!� �6� ����������

R1 := {x ∈ R
A : 0 ≤ x, �x(Z) ≥ p1(Z) 5�� ����� !�!�� ��� Z ⊆ T}. 71F;

R2 := {x ∈ R
A : 0 ≤ x, �x(X) ≥ p2(X) 5�� ����� !�!���
�
�� �
���� 71(;

X = (XO, XI) 6
�� XO ⊆ T}�

����� ����	
��� ��
��� ��� �������



 �� ��#������# ���	��(
��
 ��

,)++0 ��"� R1 = R2�

������ -
����� <��� ���� x ∈ R1� G��X �� �! ���
����� �
���� 5�� 6�
�� p(X) > 0� )�
G�  � ��F ����� 
� � �
���� Z ⊆ T 5�� 6�
�� p1(Z) ≥ p2(X) �!� Δ−(Z) ⊆ Δ−(X)�
��
� �!� ��� !�!�!����
�
�� �5 x 
 ��� ���� �x(X) ≥ �x(Z) ≥ p1(Z) ≥ p2(X) 5�� 
6�
�� x ∈ R2 5����6��
-���!�� �
����� ���� x ∈ R2� G�� Z �� �! ���
����� ��� 5�� 6�
�� p1(Z) > 0� )�

G�  � ��( ����� ��� �
����� X1, ..., Xt �� ����
∑

[p2(Xj) : j = 1, ..., t] = p1(Z) �!�

{Δ−(Xj) : j = 1, ..., t} 
� � ����
�
�! �5 Δ−(Z)� ��
� �!� ��� !�!�!����
�
�� �5 x


 ��� ���� �x(Z) ≥
∑

[�x(Xj) : j = 1, ..., t] ≥ [p2(Xj) : j = 1, ..., t] = p1(Z) 5�� 
6�
�� x ∈ R1 5����6��

��� 5����6
!� ���
�� 6�� ������ 
! 3#/4�

������� ��# 7>� @��!:� �� 2����!;� ��� D = (V, A) �� � ��
���� ��� p � ����������
�������	���
 ������������ ������ ���	���� �� V � ��� g : A → Z+ ∪ {∞} �� � 	���	���
���	���� �� A �� ���� �g(X) ≥ p(X) ��� ����� ������� ��� �����
��
 ������ ������ ���
x ∈ R+ �� ������� ���� ����
��� #�2"$+

{0 ≤ x ≤ g, �x(X) ≥ p(X) ��� ����� ������ X}� �

@�� ��
� 6� ���
�� ��� 5����6
!��

�()*&)+ ���$� ��� ������ ������ 
������ ��� x ∈ R
A

{0 ≤ x ≤ g, �x(Z) ≥ p1(Z) ��� ����� ��������� Z ⊆ T} 710;

�� ������� ���� ����
��� #�2"$� "� �����	����� ��� 	����� ���� �� �������	��	����	1����
���
����� �� D �� � ��� �� ��� �����
��
 ����������

{x ∈ R
A : 0 ≤ x ≤ 1, �x(Z) ≥ p1(Z) ��� ����� ��������� Z ⊆ T}. 71�;

������ )� ������ ���� ��� ����� 

{0 ≤ x ≤ g, �x(X) ≥ p2(X) 5�� ����� �
���� X} 7��;


� �L,� )� G�  � ��0� ��
� �!� 10 ��<!� ��� �� � ���������!�
*� ��� ���� �! 
!�?
��
�� qx ≥ β 
� �! 
!����� ��!��?
�!�� �5 � 
!�?
��
�� ����� 

Qx ≥ p 
5 ����� 
� �! 
!����� ������ y �� ���� yQ = q �!� yp = β� )� ��� �!����
�������
�� �5 �L, ����� �� 
� �
B��� �� ���6 ���� ���� 
!�?
��
�� 5�� �� 
� �! 
!�����
�� �
!��
�! �5 
!�?
��
�
�� �5 10� )� G�  � ��F� 5�� � �
���� X = (XO, XI)� �����

� � �
���� Z ⊆ T 5�� 6�
�� p1(Z) ≥ p2(X) �!� Δ−(Z) ⊆ Δ−(X)� �����5��� ���

!�?
��
�� �x(X) ≥ p2(X) 
� 
!���� � 
!����� ��!��?
�!�� �5 10�
> ��!���� ���
�� �5 �� �!�� �!� �
��� 3#�4 
 ��
�� ���� ��� ���������! ��<!�� ��

1� 
� 
!������ �!� ��!�� 
�� ����
��� ��� 0− 1 �������� )� ������ ���� ����� ����
���
��������!� �� ��� ���������!������:���� �
������� �5 D�

����� ����	
��� ��
��� ��� �������
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 �������	�
	�� �1

� ����������� �������	��	��

��� 5����6
!� ���
�� 
� �
� �� >� &
�: 3��4�

������� ��� 7>� &
�:;� ��� D = (V, A) �� � ������ �	�	��	 ��
���� �� 
��	� S =
{s1, ..., sk} ������� ��� ��� �� ����	� ����� #���� ��� ����� �� �����
��� 0���$ 
����
U := V − S �� ��� ����� (������ ���� ��� �����
��� �� ��	� ���� u ∈ U �� �� ����� k�
���� ����� ��� si��������	��	�� Fi �������
 U +si ��� i = 1, ..., k �� ���� ��� k ��� ��
siu������ �� ��� �������	��	�� Fi ��� ������ �������� ��� ����� ���� u ∈ U �

������ ��� ���������!��� 
! ��� ������ ��� ������ �
����
��
��

,���	 ���� (������ ���� D′ = (U + s, A′) �� � ������ �	�	��	 ��
���� �� 
��	� s ��
� ����	� ���� ��� ��� �����
��� �� ��	� ����� ���� �� �� ����� ���� ���� ����� �� ��
�������
 �� ��� �������� �� U �� ��	� � 
�� ���� ��� ��� �� ��� ��
�� 
���
 ���
��� 	��
�� 	�������� 
��� ���� ��
�� ������
 s �� �� �� ������ � �������
 s��������	��	��

������ ��� ��  � 
� ����� 6��! U 
� � �
!�����! �� 6�  �� ���
 � ���� |U | ≥ 2� ���!
����� 
� � �
!: !��� z� )� 
!�
��
�!� ����� 
� � ��?
����� �����
!� �5 ��� ��� �!�� �5
U − z 6
�� ������� �� ��� �
����� D′− z� ,5 s 
� ��� �!�� !��� �5 D′ 5�� 6�
�� �����

� �! ���� �!���
!� z� ���! �� �
��
!� z �� ��� ���
!!
!� �5 ��� �=
��
!� �����
!� 6�
��� ��!��
-
����� !�6 ���� ����� 
� � !��� 
! U 5�� 6�
�� ����� 
� �! ���� �5 D′ �!���
!� z

�!� ��� ui ��!��� ��� ����
��� �!� �5 ����� !���� 
! ��� �
��! �����
!� �5 U − z� ,!����
z ���6��! ui �!� ui+1� ��� ���
��
!� �����
!� �5 U ���
�<�� ��� ��?

�� �!�� �5 ���
��  � �
!�� ��� �!�� !�6 ���� ��
!� 5��6��� ������� �� ��� 
!����
�! �5 z 
� uiz�

>� ��� ������ 
� ���
�
� 5�� k = 1� 6�  �� ���
 � ���� k ≥ 2� >���� ���
��  � �� ��� �
������ D′ = (U +sk, A

′) �5 D 
!�
��� �� U +sk� G�� u1, ..., up �� ���
�����
!� �5 ��� ��� �!�� �5 U �!�
��� �� ��� ��  � �!� ��� Fk ��!��� ��� ���������!��
��������!�
!� �� 
�� G�� D′′ �� � �
������ �5 D ����
!�� �� �����
!� !��� sk �!�
��� ����� �5 Fk� )� 
!�
��
�!� D′′ �� 
�� ��� ��?
����� 
!����!��!� ���������!���
F1, ..., Fk−1 5�� i = 1, ..., k− 1� -
!�� ��� ��� ����� �5 ����� ���������!��� �� ���:6���

! ��� �����
!� u1, ..., up 6�
�� ��� ��� ����� �5 Fk �� 5��6���� 
� 5����6� ���� ��� 
!
?
�
sku����� 
! Fk �!� ��� 
!
?
� siu����� �5 Fi (i = 1, ..., k − 1) ���� ��� �!�� !��� u

! ��  �! 5�� ����� u ∈ U �

������� ��� 7>� &
�:;� ��� D = (V, A) �� � ������ �	�	��	 ��
���� 
��� � ����
�����
���� ���� r0� ����� ��� k ����������� �������
 �������	��	�� �� ���� r0 �� ��� ����
D �� ������ k������	����	����

������ ��� !�����
�� 
� ��
��!� 5�� ��� ��<!
�
�! �5 
!����!��!��� @�� ��� �
B�
�
�!��� �
� � !�6 !��� ve �! ���� ��� e = r0v� ���
� r0 
!�� k !���� r1, ..., rk �!� ���
����� ���� ��� r0ve ����
!� r0 �� ���� r1ve, ..., rkve� %������� ��� �
����� ��
� ����
!��
��!��
!� 
!����!��!� r1, ..., rk����������!��� 
5 �!� �!�� 
5 ����� ��� k 
!����!��!�
���������!��� �5 ���� r0 
! D� M�������� D 
� ������ k�!������!!����� 
5 �!� �!�� 
5
����� �=
�� ���!�� �
�9�
!� r1v, ..., rkv ����� 5�� ���� !��� v �= r1, ..., rk 
! ��� ���
��
!�
������ >���� ������ /�# �� ��� !�6 �
������

����� ����	
��� ��
��� ��� �������
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	�� ��

,! 3�/4 &
�: ���6�� ���� ��� ���
 ��
�! ���� D 
� �����
� ��!!�� �� ��5� �
� 5��
�!� k ≥ 3� @�� k = 2� ��6����� ��*� *�
��� 3��4 ������ ���� 
� ��!�

������� ��� 7��*� *�
���;� ��� D = (V, A) �� � ��
���� 
��� � ��������� r0 ∈ V �
����� ��� �
� ����������� �������
 �������	��	�� �� ���� r0 �� ��� ���� �� D �� ������
2������	����	����

*�  �� ���
 � ���� �(r0) = 0� *� ����� �!����� ����� �!� 6�
�� ��! �� ���!
���
�� �� �� �?

����!� 6
�� ������ /�� �� ��� ����� ��!���
��
�!�

������� ���� ��� D = (V + r1 + r2, A) �� � ��
���� 
��� �(ri) = 0 ��� i = 1, 2�
(������ ���� ����� ����� ������ �������� r1v ��� r2v ����� ��� ��	� v ∈ V � ���
����� ����� �
� ����������� �������	��	�� F1, F2 �������
 V ��� ������ �� r1 ��� r2�
�����	�������

������ -
 
����� �� &
�:8� ����5� 6� ��<!� � ����
�� �����
!� �5 ��� !�����

,���	 �� � ����� �� �� �������
 r1 = v0, v1, ..., vn+1 = r2 �� ��� ����� �� ����� ���
��	� ���� vi ∈ V − r1 − r2� ����� �� �� ��
� vhvi 
��� h < i ��� �� ��
� vivj 
���
i < j�

������ *� ����� ��� ��  � �� 
�
!� 
!�
��
�! �! |V | = n� ��� ���� 6��! n = 1 
�
���
�
�� >��
 � ���� ��� ����� �!� 
� ��
� 5�� n − 1 �!� ��:� � ����� 6
�� |V | = n
���
�5�
!� ��� ��!�
�
�!�� %�!�
��� �! r1����������!�� F ���!!
!� V �!� ��� u �� �
!�
����� �5 s2 5�� 6�
�� ����� 
� !� �
������ ���� 
! F �� �!����� !�
����� �5 s2�
*� 6
�� ���6 ���� 
5 6� ���
!: s2 �!� u� ���! ����� ��
�� �=
�� ���!�� �
�9�
!� s1v �!�
s′2v ����� 5�� ���� v ∈ V − u� 6���� s′2 ��!���� ��� ���
!: !����
A����6
��� ����� 
� � �
���� X �5 V − u �!� � !��� y ∈ (V − u)+ s1 + s′2 �
�� ����

��� ��� s1 − X �!� s′2 − X ����� �� ����
�� y� ���! y  
�� �� s′2� &�6����� ��
�

 ��
�� ���� s2 ��� � !�
����� 
! X 
! ��� ��
�
!�� ������ ��!����
��
!� �� ��� ���
��
�5 u �
!�� ����� 
� � �
������ ���� 
! F 5�� u �� ����  � ��� �5 X�

��� ��  � 
 ��
�� ���� ����� 
� �! �����
!� �5 ��� !���� 
! 6�
�� ���� ��� ��� �5
����� ��
!� 5��6��� �!� ��� ��� �5 ����� ��
!� ���:6��� ����� 
!� �6� ������ ���
�������!��� F1 �!� F2 �5 D ���!!
!� V � �!� ����� �6� ���������!��� ��� 
!����!��!�
�
!�� 
! D �!� r1v����� �!� r2v����� ����� �!�� ��� ��� 
!�� !��� v�

,! �! 
!�
������ ����� 6� ���� �6� ����� r��
����
��
� 5�� �� � r ∈ V 
5 ���

!
?
� rv ����� 
! ��� ����� ��� ���!�� �
�9�
!� 5�� ����� !��� v ∈ V � ,� ��� ���!
���
<�� 
! 314� 3�(4 �!� 3�04 ���� ��� 5����6
!� ������ ����� 5�� k = 2, 3�

������� ��!� ��� G �� � k�	����	��� ������	��� 
���� ��� ���� k ≥ 1 ��� ���
r0 ∈ V (G)� ���� ����� ����� k r0������������ �������
 ����� �� G� �

��� ���� 6��! k = 4 6�� ���
<�� 
! 3�4 �
� 5�� k ≥ 5 ��� ������ 
� ��
�� ���!�
&�6����� 
! 3�F4 �!� 3��4 &
�: ���
<�� ��� ������ 5�� ���!�� ������ 5�� ���� k ≥ 1�

��� 6� ���� ��� 5����6
!��

������� ��"� ��� G �� � ������ k�	����	��� ������	��� ������ �����
���� ��� ���
r0 ∈ V (G)� ���� ����� ����� k r0������������ �������
 ����� �� G� �

����� ����	
��� ��
��� ��� �������
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!
3�14 &
�: ������ � ����!����!
!� �5 ����� ������ � 6���� ��� ��!!���
�
�����!�
�
�!
��� 6��:�!�� �� �������!!���
�
��� )� �
  ��
�
!� ��� ���
��� �5 *�
��� �!� &
�:
6� ���� ��� 5����6
!� ������ �

������� ��#�

#�$ ��� D �� � ������ k�	����	��� ����	��� �����
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